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2E(700)AIHHIE S (710)FHHIE  MIEh(716)x2138]  =:(200)=H| (el -
B3 oM Y2 oy | LS | =2
o
A 89,885,243 79,236,986| 10,648,257
=H|  A210,000
Al=ZH] 10,258,257
e 600,000
700 AtgHIE 35,104,843 34,909,863 194,980
710 IYHE 34,708,853 34,513,873 194,980
716 24| 11,774,947 | 11,609,967 164,980
200 =7 5,986,363 5,821,383 164,980
201 YukRgH| 425,786 260,806 164,980
01 AfRa2lH| 425,786 260,806 164,980
1. Y8 97,480
O &mtE SSokeAEAE ALAIEEBTL ABR S dE 8
5,000,000¢ x 14| = 5,000
O 272 I3 |AY ALARIBTY H47|= Ao 4=
5,000,000¢ x 14| = 5,000
O o712 SSote2|Ald HEAIYBTL) HAIES HE 4=
3,000,000 x 14| = 3,000
O 272 I3t |AY 78Rt a8
10,560,000¢ x 8Al = 84,480
2. 2 5 2EFY 27,500
O o712 SSotA2|Ald HEAIRKYBTL) BIielde] MY =
150,000 x 209 x 4 = 12,000
O 472 BBSAA ZHINRIBTY) BrIIE] 2ol mEy
100,000 x 20% x 42 = 8,000
O A7R BToHAIAY ZANRIETL) YIS MY 4
150,0008 x 5& x 33| x 2¢ = 4,500
O 272 BBSAHRIAE HEMAETL) BAIs 2ol D5y
100,000%! x 5 x 33| x 2 = 3,000
4. 3|o|d| 40,000
O &2 sastpafelAld HIAMGETL) Bleez (BRG], HikgHiE],
SO0, ZeesbiA A=8279] 5)
40,000,000¢ x 14 = 40,000
751 ukate|d| 20,693,557| 20,663,557 30,000
300 B0l 531,460 501,460 30,000
303 ZAZ 30,000 0 30,000
01 IS 30,000 0 30,000
O 23R 33oke 2Fee| JEfE/ ARA Z4g
500,000% x 3¥ = 1,500
O 238 S3otee 22| HEfE/t 5712 Ty MR Hey|
425,0009 x 209 = 8,500
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[ Skt ]
TQR00AZAAE  TR30)FIAMEZS  MEQ234)7E=

2:(401) A | LR CH|

B3 oM Y2 oy | LS | =2
o
200 AEAZE 54,780,400 44,327,123| 10,453,277
=H|  A210,000
Al=ZH] 10,063,277
e 600,000
230 SRS 53,557,800| 43,335,523 10,222,277
=H|  A210,000
A2 9,832,277
ey 600,000
234 F== 51,103,442 41,611,165 9,492,277
=H|  A210,000
Al 9,102,277
mE 600,000
401 A|dH|ZSCHH| 51,103,442 41,611,165 9,492,277
=H|  A210,000
Al 9,102,277
WEA| 600,000
01 AlgH| 50,254,514 41,099,669 9,154,845
O HEAH s AHIZAK=2,038,000, Al619,742)
24 (2,657,742,0008) - 7|18 (2,038,000,000¢ x 14l) = 619,742
O B33tr2e|Ald OHR[A IS
234 (2,000,000,000¢)) - 7|14 (2,300,000,000& x 14) =  A300,000
O =tkg F2E0RE Sk Alg3A
44 (500,000,000%) - 7|8 (200,000,000% x 14 = 300,000
O AKEORS 3H{2IAIA JHZERAKZ 90,000, Al 700,000)
Zd (790,000,000¢)) - 7|14 (1,000,000,000& x 14) = A210,000
=H|  A210,000
O L2 HUZRAL (= 144,000, Al 156,000)
300,000,000 x 14 = 300,000
O M4 O[] HiedB| FBISAHLY s L)
300,000,000 x 99.28/100 = 297,840
O 44 of2[HR| Hidb| FSAH M #ES L)
300,000,000¢ x 99.28/100 = 297,840
O A& A2[HR| Hli=dH| YBISAK SIS L&)
300,000,000 x 99.28/100 = 297,840
O ¢Ed AZ|Y2| BliedH| FBISAHOMS L)
300,000,000 x 99.28/100 = 297,840
O OME TH2|OFS ofrk HHIZAL
150,000,000& x 99.28/100 = 148,920

44 (3,370,874,000¢)) - 718 (2,366,000,000%

x 14)) =

O T@AA2| LAYH| SH22|R[A 0 LARY (= 2,366,000, Al 1,004,874)

1,004,874
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BQO0AEE Q30 RERES

2t Mgh(Q234)7EE  5:(401)AIEH|LLCH| )
B3 oM Y2 oy | 1| =z
Ojf kol
O SAKS 2C3| ZH| 2HD2IR|S HHIAR(2 8,620,000, Al 4,817,824)
2% (13,437,824,0009) - 714 (8,620,000,000 x 14) = 4,817,824
O £72 SFokra2|AlY HHAIRIBTL) 71244 4&E 89
20,000,0009 x 14 = 20,000
O 2712 ZIstex{e|Ald ALAIRYEBTY HRHE 89
10,000,0008 x 14| = 10,000
O Z4YR 334FH sz ZH| 300,000,0009 x 99.37/100 = 298,110
O D[HEBZFH sl ZHAKY 220,000,000% x 99.37/100 = 218,614
O 482 353 Y ot ZHIZA
130,000,0009 x 99.37/100 = 129,181
O Hus 95 OFS Y otpx2] JHEa3AL (= 10,000)
10,000,0009 x 14| = 10,000
O L5 R4HA B BZHIY 600,000,000 x 99.37/100 = 596,220
WEN| 596,220
02 2| 714,905 442,413 272,492
O =AH steptA ZHISA 2,911,000,0008 x 8.43/100 = 245,398
O =tk 52| st gt| SEERRGARY
27,094,0009 x 14| = 27,094
03 A|MECHy| 134,023 69,083 64,940
O =AH stetA ZH[SA 2,658,171,0008 x 0.27/100 = 7,178
O M4 AF|HA] HiadH| FHISAHAT IS 2)
300,000,000 x 0.72/100 = 2,160
O A4 22| Hi=dH| HHISAHMHES L)
300,000,000 x 0.72/100 = 2,160
O M4 || HipAH| HHISAKES L)
300,000,000 x 0.72/100 = 2,160
O HSH AZYR| x| FHIZAHOMES )
300,000,000 x 0.72/100 = 2,160
O OIM&E CH2|OLS ST ZHISAF  150,000,00094 x 0.72/100 = 1,080
O T2 Yol S| 20| UAr
3,380,000,000 x 0.27/100 = 9,126
O Sthg 52| skt S8 2R GAY
13,495,959,00094 x 0.23/100 = 31,041
O 24P 33458 sl HH| 300,000,000 x 0.63/100 = 1,890
O O/ggd ¢ ot ZHIAKY 220,000,000 x 0.63/100 = 1,386
O #2=2 353 ¢2 3t ZHIAKRY  130,000,0008 x 0.63/100 = 819
O L& S48A B BZAIY 600,000,0008 x 0.63/100 = 3,780
mE| 3,780
235 7|A»A] 2,330,000 1,600,000 730,000
401 AlQH|ZECHH| 2,330,000 1,600,000 730,000




[ sas ]
BHQOORIEHAE  BHR30QEANES  MELR3SIIARA  S:(401AHILEC (gl : 2
B3 oM Y2 oy | LS | =2
01 AlgH| 2,327,120 1,597,120 730,000
O STl 2g47| 701 E2SAt

730,000,000 x 14| = 730,000
290 7|EfAtRAR|IZ 231,000 0 231,000
291 ZREE=zZ gigt 231,000 0 231,000
751 geigd 231,000 0 231,000
01 =uHEZRIUIEE 220,000 0 220,000

O 82 HH| sk AlE3AL 220,000,000 x 14| = 220,000
02 Al=HEzZRZFHEE 11,000 0 11,000

O 82 HH| sl AlE3AL 11,000,000 x 14 = 11,000




